(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

District Health Officer Office Mirpur (A.K)

2- Method Of Procurement

(Single stage-Two Envelope Procedure)

Open Competitive Bidding

3- Title of Procurement

Surgical/Medical Equipment

4- PPRA Ref. No.(TSE)

4639

5- Date& Time of Bid Closing 6- Date& Time of Bid Opening 14-02-2023-11AM 14-02-2023-11:30 AM

7- No. Of Bids Received

8- Criteria For Bid Evaluation

Technical Bid Evaluation + Financial Bid Evolution

9- Details of Bid (s) Evaluation

As under

Name of Bidder	M	arks	Evaluated Cost	Rule/Regulation/SBD/Policy/
	Technical Financia (If Applicable) Applica	Financial (If Applicable)	500000/-	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
S No. 01	Item No:-1 N	eedle Holder	Large Sr	pecification: 6" Pak Made.

S.No: 01 Item	No:-1 N	cedle Holder	Large		Specific	ation: 6" Pak Made.
Name of Bidder	Technical (If Applicable)	arks Financial (If Applicable)	Qty	Evalution (Cost (Rs) Amount	Rule/Regulation/SBD/Policy/ Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	24	375/-	9000/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	24	715/-	17160/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A		Not Que	oted	
Lowest Evaluated Bidder		a de la compania				M/S Ali & Brother

S.No: 02 Ite	em No:-2 N	eedle Holder	Small		ation: 6" Pak Made.	
Name of Bidder		Marks		valution (Cost (Rs)	Rule/Regulation/SBD/Policy/
	(If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA
						Rules,2017
M/S Ali & Brother	80	N/A	10	330/-	3300/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	10	455/-	4550/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A		Not Que	oted	
Lowest Evaluated Bidder	•					M/S Ali & Brother

S.No: 03 Ite	m No:-3	Artery Force	eps	S	pecification	n: 6" Pak Made.
Name of Bidder	,	arks	E	valution (Cost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	20	330/-	6600/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	20	520-	10400/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A		Not Que	oted	
Lowest Evaluated Bidder						M/S Ali & Brother

S.No: 04 Item	n No:-4 B	.P Set Appar	ratus Mo	ercurial model	a finalis The Car
Name of Bidder	M	arks	Ev	alution Cost (Rs)	Rule/Regulation/SBD/Policy/
	(If (If Applicable) Applicable) Qty Rate Amount Reject Rule 3	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017			
M/S Ali & Brother	80	N/A	Nil	6000/	1, 1 , 9-21
M/S Star Traders	85	N/A	Nil	7150/	
M/S Medicamp Distributor	70	N/A	Nil	7670/	
	This item	being not pu	rchase o	lue to less budget	

S.No: 05 Iten	1 No:-5 B.	P Set Aneroi	id	Specific	ation: Mod	ael yamasu japan
Name of Bidder		rks	E	evalution (Cost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	30	2700/-	81000/-	Accepted Being First Lowest being
M/S Medicamp Distributor	70	N/A	30	3070/-	92100/-	Second lowest bid.
M/S Star Traders	85	N/A	30	3250/-	97500/-	3 rd lowest bid.
Lowest Evaluated Bidder						M/S Ali & Brother

S.No: 06 Item N	o:-6 Stethose	cope Spec	ificatio	on: High (Quality Du	al/Head Stethoscope
Name of Bidder	Ma	rks	E	Evalution C	Cost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	10	975/-	9750/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	10	1820/-	18200/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A	10	3090/-	30900/-	3 rd lowest bid.
Lowest Evaluated Bidder						M/S Ali & Brother

S.No: 07 Item N	o:-7 Sterilize	er ss Small E	lec	Specifica	tion: Smal	ll Electric Pak Made.
Name of Bidder	Ma	rks	Ev	alution Co	ost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil	5250/-		
M/S Star Traders	85	N/A	Nil	5850/-		
M/S Medicamp Distributor	70	N/A		Not Quo	ted	
	This item l	eing not pui	rchase	due to les	s budget	

S.No: 08 Iten	1 No:-8 Se	cissors 6" Pal	k Made	Sr	ecification	: Pak Made.
Name of Bidder	M:	arks	Ev	alution C	ost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil	270/-		
M/S Star Traders	85	N/A	Nil	455/-		
M/S Medicamp Distributor	70	N/A		Not Que	oted	
1 2 1 1 1 1 2 2	This item	being not pur	rchase (due to les	s budget	The state of the s



S.No: 09 Item No:-9 B.P Bladder with cuff Specification: Blader PVC or

Technical (If	Financial			Basis for
Applicable)	Applicable)	Qty	Rate Amount	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
80	N/A	Nil	585/	
85	N/A	Nil	1235/	
70	N/A	Nil	4500/	
	80 85 70	80 N/A 85 N/A 70 N/A	80 N/A NII 85 N/A NII 70 N/A NII	80 N/A NiI 585/ 85 N/A NiI 1235/

S.No: 10 It	em No:-10	B.P Bulb	Spec	ification	PVC Late	ex
Name of Bidder	Ma	arks	Evalution Cost (Rs)			Rule/Regulation/SBD/Policy
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil	390/-		
M/S Star Traders	85	N/A	Nil	455/-		
M/S Medicamp Distributor	70	N/A	Nil	1690/-		
	This item	being not pur	rchase	due to les	s budget	

S.No: 11 Item	No:-11 D	ressing Dru	n ss	$\mathbf{s_{I}}$	pecification	1: Stainless Steel
Name of Bidder	Ma Technical (If Applicable)	rks Financial (If Applicable)	Qty	valution C Rate	ost (Rs) Amount	Rule/Regulation/SBD/Policy/ Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	04	1800/-	7200/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	04	3250/-	13000/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A		Not Quo	ted	
Lowest Evaluated Bidder						M/S Ali & Brother

Name of Bidder	Ma	Marks		alution C	ost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil	225/-		
M/S Star Traders	85	N/A	Nil	390/-		
M/S Medicamp Distributor	70	N/A		Not Quo	oted	

S.No: 13 Item No:-13 Drip Stand Specification: 5 Wheel 4 Hooks Plastic Base Heavy Duty Local Made

Name of Bidder	Marks		E	valution C	Cost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	13	6900/-	89700/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	13	7150/-	92950/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A		Not Quo	ted	
Lowest Evaluated Bidder						M/S Ali & Brother

Se A

Month

S.No: 14 Ite	m No:-14	Stool Steel A	djustal	ole S	specification	n: Pak Made
Name of Bidder		Marks			Cost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	05	3300/-	16500/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	05	3640/-	18200/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A		Not Quo	ted	222
Lowest Evaluated Bidder			-			M/S Ali & Brother

S.No: 15 1to	em No:-15	Cheatle For	ceps	S	pecificatio	on: Pak Made
Name of Bidder	M	Marks		alution Co	st (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil	900/-		
M/S Star Traders	85	N/A	Nil	1105/-		
M/S Medicamp Distributor	70	N/A		Not Quot	ed	
	This item	being not pur	rchase o	lue to less	budget	

S.No: 16 Iter	n No:-16 C	heatle jar			Specification	on: Pak Made
Name of Bidder	Technical (If Applicable)	Financial (If Applicable)	Ev Qty	ralution C Rate	ost (Rs) Amount	Rule/Regulation/SBD/Policy/ Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil	900/-		
M/S Star Traders	85	N/A	Nil	910/-	()	
M/S Medicamp Distributor	70	N/A		Not Que	oted	
	This item b	eing not pu	rchase	due to le	ss budget	

D11101 11		Thermomete				ation: Pak Made Rule/Regulation/SBD/Policy/
Name of Bidder	Technical (If Applicable)	Financial (If Applicable)	Qty	valution (Rate	Cost (Rs) Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	73	210/-	15330/-	Accepted Being First Lowest being
M/S Star Traders	85	N/A	73	340/-	24820/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A	73	615/-	44895/-	3 rd lowest bid.
Lowest Evaluated Bidder		_				M/S Ali & Brother

S.No: 18 It	em No:-18	Patient Stret	cher Trolley Specifi	cation: Pak Made
Name of Bidder	M:	arks	Evalution Cost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty Rate Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil 16500/	
M/S Star Traders	85	N/A	Nil 19500/	
M/S Medicamp Distributor	70	N/A	Not Quoted	
	This item	being not pur	chase due to less budget	

A P

Miner

S.No: 19 Iten	Ma	n No:-19 Elect Sucker		alution Co	st (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Ali & Brother	80	N/A	Nil	20700/-		
M/S Medicamp Distributor	70	N/A	Nil	21470/-		
M/S Star Traders	85	N/A	Nil	62400/-		

Name of Bidder	Ma	Marks		valution C	Cost (Rs)	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp Distributor	70	N/A	06	3850/-	23100 /-	Accepted Being First Lowest being
M/S Ali & Brother	80	N/A	06	4800/-	28800/-	Second lowest bid.
M/S Star Traders	85	N/A	06	5850/-	35100/-	3 rd lowest bid.
Lowest Evaluated Bidder						M/S Medicamp Distributor

S.No: 21 Item	No:-21 L	ead Screen f	or X-l	Ray Room	Spec	ification: Pak Made
Name of Bidder	Ma	F	Evalution Co	ost (Rs)	Rule/Regulation/SBD/Policy/	
	Technical	Financial				Basis for
	(If (If	(If	Qty	Rate	Amount	Rejection//Acceptances per
	Applicable)	Applicable)				Rule 35 of AJK PPRA
						Rules,2017
M/S Ali & Brother	80	N/A	02	90000/-	180000 /-	Accepted Being First Lowest
		. App				being
M/S Star Traders	85	N/A	02	162500/-	325000 /-	Second lowest bid.
M/S Medicamp Distributor	70	N/A		Not Quo	ted	
Lowest Evaluated Bidder						M/S Ali & Brother

S.No: 22 Item N	No:-22 X-R	ay lead Blue	e Apro	on S _I	pecification	: Large size
Name of Bidder	Mai	Marks		valution C	ost (Rs)	Rule/Regulation/SBD/Policy/
	Technical	Financial				Basis for
	(If	(If	Qty	Rate	Amount	Rejection//Acceptances per Rule 35 of AJK PPRA
	Applicable)	Applicable)				Rules,2017
M/S Ali & Brother	80	N/A	03	19500/-	58500 /-	Accepted Being First Lowest being
M/S Medicamp Distributor	70	N/A	03	24550/-	73650 /-	Second lowest bid.
M/S Star Traders	85	N/A	03	25400/-	76200/-	3 rd lowest bid.
Lowest Evaluated Bidder						M/S Ali & Brother

District Health Officer Mirpur A.K Official Stamp:

District Health Officer Mirpur (A.K.)

Dr Fatima Yagoob BAB Bilice Mirpur

Stand Officer
DHO Office Mirpur A.K

Deputy Drug Controller

(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

2- Method Of Procurement

District Health Officer Office Mirpur (A.K)

(Single stage-Two Envelope Procedure)

3- Title of Procurement

4- PPRA Ref. No.(TSE)

5- Date& Time of Bid Closing

6- Date& Time of Bid Opening

7- No. Of Bids Received

8- Criteria For Bid Evaluation

9- Details of Bid (s) Evaluation

Open Competitive Bidding

Laboratory Chemicals/Kit

4639

14-02-2023-11AM

14-02-2023-12:30 PM

Technical Bid Evaluation + Financial Bid Evolution

As under

Name of Bidder	of Blader		Evaluated Cost 500000/-	Rule/Regulation/SBD/Policy/ Basis for
	Technical (If Applicable)	(If	30000/-	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017

Typhoid Kit S.No: 01 Item No:-1 Rule/Regulation/SBD/Policy/ **Evaluated Cost** Marks Name of Bidder Rate **Amount** Basis for Financial Qty Technical Rejection//Acceptances per (If (If Rule 35 of AJK PPRA Applicable) Applicable) Rules,2017 42/-Each 33600/-**Accepted** Being First Lowest 800 N/A 80 M/S Ali & Brother being Second lowest bid. 84/-Each 67200/-800 N/A 70 M/S Medicamp Distributor 117/-Each 93600/-3rd lowest bid. 800 85 N/A M/S Star Traders M/S Ali & Brother Lowest Evaluated Bidder

Specification: High Quality. Microscope Bulb Item No:-2 S.No: 02 Rule/Regulation/SBD/Policy/ **Evaluated Cost** Marks Name of Bidder Qty Rate **Amount** Financial Basis for Technical Rejection//Acceptances per (If (If Rule 35 of AJK PPRA Applicable) Applicable) Rules,2017 04 445/-China 1780/-Accepted Being First Lowest 70 N/A M/S Medicamp Distributor being Second lowest bid. 04 675/-Each 2700/-80 N/A M/S Ali & Brother 1950/-Each 7800/-3rd lowest bid. 04 85 N/A M/S Star Traders M/S Medicamp Distributor Lowest Evaluated Bidder

Specification: China/Germany Chamber S.No: 03 Item No:-3 **Evaluated Cost** Rule/Regulation/SBD/Policy/ Name of Bidder Marks Qty Rate Amount Basis for Financial Technical Rejection//Acceptances per Applicable) Rule 35 of AJK PPRA Applicable) **Rules, 2017** 04 1750/-China 7000/-Accepted Being First Lowest M/S Medicamp Distributor N/A 70 being 9600/-Second lowest bid. 04 2400/-China N/A 80 M/S Ali & Brother 3rd lowest bid. 3250/-China 13000/-04 N/A 85 M/S Star Traders M/S Medicamp Distributor **Lowest Evaluated Bidder**

S.No: 04 Item	No:-4	/10 HCL Sol	lutin	Bottle		
Name of Bidder	Technical (If Applicable)	arks Financial (If Applicable)	Qty	Evaluated C Rate	ost Amount	Rule/Regulation/SBD/Policy/ Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp Distributor	70	N/A	08	450/-China	3600/-	Accepted Being First Lowest being
M/S Star Traders M/S Ali & Brother	85	N/A N/A	08	585/- Each 600/-Each	4680/- 4800/-	Second lowest bid. 3 rd lowest bid.
M/S All & Brother				7		>

S.No: 05 Iten	n No:-5 S	ervo Motor S	Stabiliz	er	· · · · · · · · · · · · · · · · · · ·	
Name of Bidder	M	Marks		Evaluated (Cost	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	02	11050/-	22100/-	Accepted Being First Lowest being
M/S Ali & Brother	80	N/A	02	22500/-	45000/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A	Not C	Quoted		
Lowest Evaluated Bidder	Control of the Contro			-		M/S Star Traders

S.No: 06 Item No:-6 Bulb Metro Lab 1600 with Set

Name of Bidder	M	Marks		Evaluated Cost		Rule/Regulation/SBD/Policy/
	Technical (lf Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	02	3900/-	7800/-	Accepted Being First Lowest being
M/S Ali & Brother	80	N/A	02	6000/-	12000/-	Second lowest bid.
M/S Medicamp Distributor	70	N/A	Not (Quoted		
Lowest Evaluated Bidder					M/S	Star Traders

S.No: 07 Item No:-7 Sahlis Hemoglobin Meter

Name of Bidder	M	Marks		Evaluated	Cost	Rule/Regulation/SBD/Policy/
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp Distributor	70	N/A	04	1690/-	6760/-	Accepted Being First Lowest being
M/S Ali & Brother	80	N/A	04	4500/-	18000/-	Second lowest bid.
M/S Star Traders	85	N/A	04	4550/-	18200/-	3 rd lowest bid.
Lowest Evaluated Bidder					M/S	Medicamp Distributor

Name of Bidder	M	arks		Evaluated	Cost	Rule/Regulation/SBD/Policy/
	Technical	Financial	Qty	Rate	Amount	Basis for
	(If	(If				Rejection//Acceptances per
	Applicable)	Applicable)				Rule 35 of AJK PPRA
						Rules,2017
M/S Medicamp Distributor	70	N/A	08	360/-	2880-	Accepted Being First Lowest
						being
M/S Ali & Brother	80	N/A	08	675/-	5400/-	Second lowest bid.
M/S Star Traders	85	N/A	08	845/-	6760/-	3 rd lowest bid.
Lowest Evaluated Bidder					M/S	Medicamp Distributor

Bistrict Health Officer Mirpur A.K District Health Officer Mirpur (A.K.)

Official Stamp: _

Dr Fatima Yaqoob

DHO Office Mirpur

GHULAM AHMED Store Officer DHO Office Mirpur A.K Deputy Drug Controller Mirpur Azad Kashmir

(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

District Health Officer Office Mirpur (A.K) **Open Competitive Bidding**

2- Method Of Procurement

(Single stage-Two Envelope Procedure)

3- Title of Procurement

Surgical/Medical Equipment

<u>4639</u>

4- PPRA Ref. No.(TSE) 5- Date& Time of Bid Closing

14-02-2023-11AM

6- Date& Time of Bid Opening

14-02-2023-11:30 AM

7- No. Of Bids Received

8- Criteria For Bid Evaluation

Marks 50

Technical Bid Evaluation(Total Marks 100 & Qualifying

9- Details of Bid (s) Evaluation

As under

Name of Bidder	Marks		Evaluated Cost	Rule/Regulation/SBD/Policy/Ba	
	Technical (If Applicable)	Financial (If Applicable)	500000/-	sis for Rejection//Acceptances per Rule 35 of AJK PPRA	

S.No: 01	Item No:-1 N	eedle Holder La	rge Specification: 6" Pak Made.
Name of Bidder	Ma	rks	Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks
Distributor			

S.No: 02	Item	No:-2 Ne	edle Holder Sma	II Specification: 6" Pak Made.
Name of Bidder		Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA	
	(If Applicable)	(If Applicable)	Rules,2017	
M/S Star Traders		85	N/A	Accepted on Technical Marks
M/S Ali & Brothe	r	80	N/A	Accepted on Technical Marks
M/S Medicamp		70	N/A	Accepted on Technical Marks
Distributor				

S.No: 03 Ite	em No:-3 A	rtery Forceps	Specification: 6" Pak Made.
Name of Bidder	Mark	KS	Rule/Regulation/SBD/Policy/Basis for
*	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 04	tem No:-4 B.l	P Set Apparatus	s Mercurial model
Name of Bidder	Mar Technical (If Applicable)	ks Financial (If Applicable)	Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 05	Item No:-5	B.P Set Aneroid	Specification: Modael yamasu japan
Name of Bidder	N	1arks	Rule/Regulation/SBD/Policy/Basis for
	Technical (If Applicab	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders		N/A	Accepted on Technical Marks

M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 06 Item No:-6 Stethoscope Specification: High Quality Dual/Head Stethoscope

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 07 Item No:-7 Sterilizer ss Small Elec Specification: Small Electric Pak Made.

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for	
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA	
	(If Applicable)	(If Applicable)	Rules,2017	
M/S Star Traders	85	N/A	Accepted on Technical Marks	
M/S Ali & Brother	80	N/A	Accepted on Technical Marks	
M/S Medicamp	70	N/A	Accepted on Technical Marks	
Distributor				

S.No: 08 Item No:-8 Scissors 6" Pak Made Specification: Pak Made.

		SSOIS O I MILITA	
Name of Bidder	Mark	KS .	Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable)	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks
Distributor			

S.No: 09 Item No:-9 B.P Bladder with cuff Specification: Blader PVC or latex size 22-14cm cuff nylon or cotton size 48-14cm

Name of Bidder	Mark	S	Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable)	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks
Distributor			

S.No: 10 Item No:-10 B.P Bulb Specification: PVC Latex

		preemention: I ve matex
Mark	S	Rule/Regulation/SBD/Policy/Basis for
Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
(If Applicable)	(If Applicable)	Rules,2017
85	N/A	Accepted on Technical Marks
80	N/A	Accepted on Technical Marks
70	N/A	Accepted on Technical Marks
	Technical (If Applicable) 85 80	Marks Technical Financial (If Applicable) (If Applicable) 85 N/A 80 N/A

S.No: 11 Item No:-11 Dressing Drum ss Specification: Stainless Steel

		- Francisco	Specification. Stanness Steel
Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable)	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 12 Iter	n No:-12 Stair	nless Steel Tong	
Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPI Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks

S.No: 13 Item No:-13 Drip Stand Specification: 5 Wheel 4 Hooks Plastic Base Heavy Duty Local Made.

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 14 Item No:-14 Stool Steel Adjustable Specification: Pak Made

0.110.14	CIII 11014	tool Steel I Laja	Stable Specification 2 to 1
Name of Bidder	Marl	(S	Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable)	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks
Distributor			_38(\#\forall \forall

S.No: 15 Item No:-15 Cheatle Forceps Specification: Pak Made

5.110. 15	Item Mo15	mentic I of ceps		
Name of Bidder	Mark	S	Rule/Regulation/SBD/Policy/Basis for	
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA	
	(If Applicable)	(If Applicable)	Rules,2017	
M/S Star Traders	85	N/A	Accepted on Technical Marks	
M/S Ali & Brother	80	N/A	Accepted on Technical Marks	
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks	

S.No: 16 Item No:-16 Cheatle jar Specification: Pak Made

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable)	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks
Distributor			

S.No: 17 Item No:-17 Thermometer Mercurial Specification: Pak Made

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 18 Item No:-18 Patient Stretcher Trolley Specification: Pak Made

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
Technical Fir	Financial (If Applicable)		
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks

	em No:-19	Elect Sucker Ma	achine	Specification: Pak Made
Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for	
	Technical (If Applicable)	Financial (If Applicable)	Rejection Rules,201	//Acceptances per Rule 35 of AJK PPRA 7
M/S Star Traders	85	N/A	Accepted	on Technical Marks
M/S Ali & Brother	80	N/A	Accepted	on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted	on Technical Marks

S.No: 20 Ite	m No:-20 Ox	ygen Regulator	r/Flow Meter	Specification: Pak Made
Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for	
	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acception/Acception/Acception//Acception/	otances per Rule 35 of AJK PPRA
M/S Star Traders	85	N/A	Accepted on Tecl	hnical Marks
M/S Ali & Brother	80	N/A	Accepted on Tech	hnical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Tec	hnical Marks

S.No: 21 Item	1 No:-21 Le	ad Screen for X	K-Ray Room Specification: Pak Made	
Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for	
(Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA	
	(If Applicable)	(If Applicable)	Rules,2017	
M/S Star Traders	85	N/A	Accepted on Technical Marks	
M/S Ali & Brother	80	N/A	Accepted on Technical Marks	
M/S Medicamp	70	N/A	Accepted on Technical Marks	
Distributor				

S.No: 22 Item	No:-22 X-R:	ay lead Blue Ap	oron Specification: Large size
Name of Bidder	Mark	S	Rule/Regulation/SBD/Policy/Basis for
- Carrier Constitution Constitu	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable)	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks
Distributor			

District Mealth Officer Mirpur A.K

Store Officer

OHO Office Lindur A.K

Deputy Drug Controller

Mirpur Arabi Koshmir

District Health Officer Mirpur (A.K.)

Official Stamp: _

Dr. Fatima Yaqoob
PMO
Ottice Mirbur

(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

2- Method Of Procurement

District Health Officer Office Mirpur (A.K)

Open Competitive Bidding

(Single stage-Two Envelope Procedure)
Laboratory Chemicals/Kit

3- Title of Procurement

4- PPRA Ref. No.(TSE)

5- Date& Time of Bid Closing

6- Date& Time of Bid Opening

7- No. Of Bids Received

8- Criteria For Bid Evaluation Marks 50

9- Details of Bid (s) Evaluation

4639 14-02-2023-11AM

14-02-2023-12:30 PM

03

Technical Bid Evaluation(Total Marks 100 & Qualifying

As under

Name of Bidder	Marks		Evaluated Cost	Rule/Regulation/SBD/Policy/Ba
	Technical (If Applicable)	Financial (If Applicable)	500000/-	sis for Rejection//Acceptances per Rule 35 of AJK PPRA
				Rules,2017

Typhoid Kit S.No: 01 Item No:-1 Rule/Regulation/SBD/Policy/Basis for Name of Bidder Marks Financial Rejection//Acceptances per Rule 35 of AJK PPRA **Technical** Rules,2017 (If Applicable) (If Applicable) Accepted on Technical Marks N/A M/S Star Traders 85 Accepted on Technical Marks N/A M/S Ali & Brother 80 Accepted on Technical Marks N/A M/S Medicamp 70 Distributor

Item No:-2 Microscope Bulb Specification: High Quality. S.No: 02 Rule/Regulation/SBD/Policy/Basis for Marks Name of Bidder Financial Rejection//Acceptances per Rule 35 of AJK PPRA **Technical** (If Applicable) (If Applicable) Rules,2017 Accepted on Technical Marks N/A M/S Star Traders 85 Accepted on Technical Marks N/A M/S Ali & Brother 80 Accepted on Technical Marks M/S Medicamp 70 N/A Distributor

Specification: China/Germany Item No:-3 Chamber S.No: 03 Rule/Regulation/SBD/Policy/Basis for Name of Bidder Marks Rejection//Acceptances per Rule 35 of AJK PPRA Technical Financial Rules,2017 (If Applicable) (If Applicable) Accepted on Technical Marks M/S Star Traders 85 N/A Accepted on Technical Marks M/S Ali & Brother 80 N/A Accepted on Technical Marks M/S Medicamp N/A Distributor

Bottle S.No: 04 Item No:-4 N/10 HCL Solutin Rule/Regulation/SBD/Policy/Basis for Name of Bidder Rejection//Acceptances per Rule 35 of AJK PPRA Technical Financial (If Applicable) (If Applicable) **Rules, 2017** Accepted on Technical Marks M/S Star Traders 85 N/A Accepted on Technical Marks M/S Ali & Brother 80 N/A 70 N/A M/S Medicamp Accepted on Technical Marks Distributor

S.No: 05 Item No:-5 Servo Motor Stabilizer

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 06 Item No:-6 Bulb Metro Lab 1600 with Set

Name of Bidder	Marks		Rule/Regulation/SBD/Policy/Basis for
	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S No: 07 Item No:-7 Sahlis Hemoglobin Meter

Name of Bidder	Mark	(S	Rule/Regulation/SBD/Policy/Basis for
ranic or Diago	Technical (If Applicable)	Financial (If Applicable)	Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Star Traders M/S Ali & Brother	85 80	N/A N/A	Accepted on Technical Marks Accepted on Technical Marks
M/S Medicamp Distributor	70	N/A	Accepted on Technical Marks

S.No: 08	Item No:-8	Test Tube Stand

5.110: 00	11 110. 0	T I HOU STUING	The second secon
Name of Bidder	Mark	S	Rule/Regulation/SBD/Policy/Basis for
	Technical	Financial	Rejection//Acceptances per Rule 35 of AJK PPRA
	(If Applicable)	(If Applicable)	Rules,2017
M/S Star Traders	85	N/A	Accepted on Technical Marks
M/S Ali & Brother	80	N/A	Accepted on Technical Marks
M/S Medicamp	70	N/A	Accepted on Technical Marks
Distributor			

District Health Officer

Mirpur A.K

ore Officer DHO Office Mirpur A K Deputy Drug Controller
Mirror Algu Kashmir

District Health Officer Mirpur (A.K.)

Official Stamp:

Dr Fatima Yaqoob APMO DHO Office Mirpur